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Question Number : 1 Question Id : 70819116594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i x

The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :
70819154931, 1-33%

70819154932, 1-03%

E
70819154933, 1-13%

.
70819154934, 1-30%

Question Number : 1 Question Id : 70819116594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819154931, 1-33%

70819154932, 1-03%

e
70819154933, 1-13%

.
70819154934, 1-30%

Question Number : 2 Question Id : 70819116595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particlc- is pmjected with velf}cit}f g along r-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= axr2. The
distance at which the par’ricle stops :

21:'{:;
3a
70819154935.

1
31-‘{2} 2
2o
70819154936.

33% _3
2w
70819154937.

Options :

P | =




b

21, \‘]j
3w )
70819154938.

Question Number : 2 Question Id : 70819116595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819116596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A circular hole of radius [—J is cut out of a circular disc of radius ‘a’ as shown in figure. The

centroid of the remaining circular portion with respect to point ‘0" will be :

A Y-axis

Options :

70819154939, ©

5

—a
70819154940, ©

—a
70819154941

10

—a

70819154942, 11
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Correct Marks : 4 Wrong Marks : 1
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X-axis

Options :

70819154939, ©

70819154940.

70819154941.

70819154942, 11

Question Number : 4 Question Id : 70819116597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM .
[Use ¢ = Rj = 9.8 ms 2 and radius of earth, R = 6400 km.]

Options :

70819154943. LN

70819154944. o

70819154945. 4583 N

70819154946. IR

Question Number : 4 Question Id : 70819116597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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GM
[g= = S 9.8 ms 2 ¢q2 R = 6400 km ¥&47 |
Options :

70819154943. AN

70819154944. i

70819154945, 4883 N



70819154946. 95 N

Question Number : 5 Question Id : 70819116598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P}, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2
[ 2(y 11]
70819154947

RT

2(y—1)
70819154948,

70819154949, RT In 2

70819154950. 0



Question Number : 5 Question Id : 70819116598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

RT | In2 -
2(y-1)
70819154947.

RT
20y - 1)

70819154948.

70819154949, RTIn 2

70819154950. 0

Question Number : 6 Question Id : 70819116599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



On the basis of kinetic theory of gases, the gas exerls pressure because its molecules :
Options :

70819154951 continuously lose their energy tll it reaches wall.

70819154952 cnntmuousl}-' stick to the walls of container.

are attracted by the walls of container.
70819154953. .

70819154954 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819116599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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10819154957, "I TREAITE il SIGCS ACF |

70819154953, oA THSH A TS SIS 2F |

70819154954, Mo THSATCA A1 TICH ST TACACS A Tea 2|

Question Number : 7 Question Id : 70819116600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

1 k

E’l‘ Mg sina

70819154955.

1 2k

2 Mg sina
70819154956.

1 [k

2o Y M

70819154957.

1 | k
21 .VI 2M
70819154958.

Question Number : 7 Question Id : 70819116600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
1 k
2 5
70819154955, =7 | Mg sina
1 2k
2w\ Mg sina
70819154956.
1 2k
=
70819154957, -7 ' M
1 [k
EwV2n1
70819154958,

Question Number : 8 Question Id : 70819116601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819154959, circular

elliptical
70819154960.

parabolic
70819154961.

st‘raight line
70819154962.

Question Number : 8 Question Id : 70819116601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819154959, J° 14

.@‘ q\._.is 35 ﬂ
70819154960.

70819154961 e

70819154962, THALAIE

Question Number : 9 Question Id : 70819116602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Which of the f(}]lf}‘wit‘lg equations represents a travc-l[ing wave 7

Options :

— X " i
70819154963, V= Aercos(wt — )

' 2

. Pt i O
70819154964, Y= ¢ (V1 +0)

= Asi i
70819154965, Y = Asin(15x — 21}
70819154966, ¥ = SINY coswl

Question Number : 9 Question Id : 70819116602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

y=Ae"cos(wl — 0)

70819154963
' 2
o R e
70819154964, V= ¢~ (v +0)
== 7 u ':“
70819154965, ¥ = Asin(15x —21)
70819154966, ¥ = ASInX cosol

Question Number : 10 Question Id : 70819116603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

1
¢ )
2meg um’3

70819154967.
o
( Zqz ]2
3
e md

1
TEQ md” ]2
2 2
q

70819154968.

70819154969. (

1

27meg J'u'.ﬁ'T:'5 B
qZ
70819154970.

Question Number : 10 Question Id : 70819116603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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(m = mass of charged particle)



Options :

g | =

)
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Question Number : 11 Question Id : 70819116604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S’ is closed will be :

i
2 R
+ T R § L
1
E=9 V] .
R
R
Options :
70819154971, 222 A
70819154972, >0 A
70819154973, 237 A

70819154974, 9 A

Question Number : 11 Question Id : 70819116604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819154971, 220 A

70819154972, >0 A

70819154973, 037 A

70819154974, 9 A

Question Number : 12 Question Id : 70819116605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft ferromagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819154975 increase in size but no change in orientation.

70819154976, decrease in size and changes orientation.



70819154977, may increase or decrease in size and change its orientation.

70819154978, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819116605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819154975.

70819154976, h T AT G ey qwee A |
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Question Number : 13 Question Id : 70819116606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819154979, @F(Vi) (B)-(v), ()-(1), (d)-(iv)

70819154980, @)-(vi), (B)~(iv), (c)-(i), (d)-(v)
70819154981, (@ (i), (b)-(iv), (c)-(1), (d)-(ii1)

70819154982, (@)-(ii), (b)-(iv), (¢)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819116606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819154979, @F (V). (B)-(¥), (©)-(D), (d)-(iv)

20819154980, (@) (Vi) (B)-(iv), (©)-(1), (d)-(v)
70819154981, @D, (B)-(iv), ()-(1), (d)-(iii)

70819154982, (@)-(ii), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 14 Question Id : 70819116607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the source of light used in a Young’s double slit experiment is changed from red to violet :
Options :

70819154983, e fringes will become brighter.

70819154984 conseculive fringe lines will come closer.



70819154985, the intensity of minima will increase.

70819154986, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819116607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 15 Question Id : 70819116608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An X-ray tube is operated at 1.24 million volt. The shortest wavelength of the produced
plmton will be :

Options :

1
70819154987, 107~ nm

..
70819154988, 10 -~ nm



3
70819154989, 10~ 7 nm

4
70819154990, 10" nm

Question Number : 15 Question Id : 70819116608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1
70819154987, 107 nm

)
70819154988, 10 = nm

3
70819154989, 107~ nm

4
70819154990, 10 % nm

Question Number : 16 Question Id : 70819116609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of a proton and a-particle are equal. The ratio of their velocities
15 :

Options :
70819154991, +:1

70819154992, ++2



70819154993, 413

70819154994, 1 :4

Question Number : 16 Question Id : 70819116609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819154991.

70819154992.

70819154993.

70819154994, 1 :4

Question Number : 17 Question Id : 70819116610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum ?

Options :
70819154995, N=2 to n=1

—— :’}
70819154996, N=3 ton=2

ik s 3
70819154997, M40 M



70819154998, M2 o n=4

Question Number : 17 Question Id : 70819116610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options : AT
70819154995, N=2 to n=1

70819154996, N=3 ton=2
=4 ton=3

70819154997, - O 1

70819154998, n=>5to n=4

Question Number : 18 Question Id : 70819116611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p —n junction having p and n both :
Options :
70819154999, lightly doped and have narrow depletion layer.

70819155000. lightly doped and have wide depletion layer.

20819155001 heavily doped and have narrow depletion layer.

70819155000 heavily doped and have wide depletion layer.



Question Number : 18 Question Id : 70819116611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

Zrel TOIe2 8 ALI S (TelerE) %
70819154999,

Ea

@ HIT] TR (TEiEme]) =%
70819155000. i (

70819155001. wiEE 1@ TeiFle @ HePlef Ty T

TS AT T2 8 TITT ST LA
70819155002.

Question Number : 19 Question Id : 70819116612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.

Statement 11 :  In the study of transistor, the amplification factor (§ indicates ratio of the
collector current to the base current.

In the light of the above statements, choose the correct answer from the options given below.
Options :
70819155003, both Statement I and Statement II are true

70819155004 Both Statement | and Statement 1l are false

70819155005. Statement 1 is true but Statement 11 is false



70819155006. Statement 1 is false but Statement 1l is true

Question Number : 19 Question Id : 70819116612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1



>o0—o0 C

The logic circuit shown above is equivalent to :

Options :

S
C

70819155007, B
Ao—>0— _
o—o C

70819155008 B ©
T
70819155009, B © |
T e
C

B

Question Number : 20 Question Id : 70819116613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A
>o0—o0 C
B

Options :

70819155010
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70819155007. B )
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B o———

70819155008.
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70819155010.

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 21 Question Id : 70819116614 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I

Physics Section B

708191647
2

Online
Mandatory
10

5

20

Yes

1
708191927
Yes



Two solids A and B of mass 1 kg and 2 kg respectivc-ly are moving with equal linear

A
momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be 1% the value of

A will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 21 Question Id : 70819116614 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819116615 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The
elongation, if its length and diameter is doubled and subjected to the same force will be
cIm.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819116615 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819116616 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.

The moment of inertia about an axis passing through the centre of mass and perpendicular
to the plane of hexagon is  x1071 kg m”.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 23 Question Id : 70819116616 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
24 m WY @F 6 kg TS G T 7T 1T G5 I TOPLH #MAT0 T AR 93 Toged
TACE WA A2 TTHLEA OLAT ALS &9 HCHA ACACH OF GC-ANFT q4
X101 kgm? |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Text Areas : PlainText
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5t05.001

Question Number : 24 Question Id : 70819116617 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms !, The root mean square speed of molecules of the gas at 127°C and

2 atmosphere pressure is ﬁ ms 1. The value of x will be
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819116617 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116618 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each

other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116618 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



qfG TA6A STE «tF S#@d Med W= 7.2 km/hr TA05 @900 SPTR| O0F SPACE TR T1d S
T2 676 Hz F10Fa 2 A | 553 151 (3 *3 W 91 €6 15T Hz |
(AT *T39 739 340 m/s 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819116619 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A point charge of +12 puC is at a distance 6 cm vertically above the centre of a square of side

12 em as shown in fi%urc-. The magnitude of the electric flux through the square will be
x 10° Nm?2/C.

*+q

<
)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 26 Question Id : 70819116619 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

F12 pC T G 7% W 12 T g @S asfteaa iy weE 6 T 71 Then
T 59 55 | 83 WCHFQNN S FLFAIF_ x103Nm2/C |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819116620 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A cylindrical wire of radius 0.5 mm and conductivity 5x 107 S/m is subjected to an electric
field of 10 mV/m. The expected value of current in the wire will be 1 mA. The value of x
1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819116620 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.5 mm T @ 5 x 107 S/ m #Faze [fE «ah @aags (FfFE gamE) ota@ 7™ 10 mV/m
Thee -TFa A 91 29| OIAd 992 WEE TR 9 O mA I0F, x §F T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116621 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency m{]=1[]5 rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is £},

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116621 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



G5 T4 ST LCR TEa THF F901¢F w, = 10° rad /s TS Sf% 78 2 9% TG S0
G5 120 VBT TACF 16 W @1 T2 Fd | G2 Jea ‘R T AW Q1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116622 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
x10~2 cm.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116622 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
93 3 GHz FN1¢F A3 it 5 a5 0 T4 1240F 2.25 UH5s ofee Tomel [AHE
AT FCA | G TN 93 TACHT TIACACATA [T+ x10~2 G|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116623 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

P
[Gain in dB=10 log,,| —

B ) ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116623 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

frenfaoma afe — 5 dB ShgeEH A8 20 km v (FACFA @F 408 0.1 kW FI9d 930 ALFS
AT T TA | TFCACEA A AR A1 ALTHCOA BAGE T 10+ W TTAH x «F T+ 1

: L :
[z dB=10 Iogm[iJ ]
P;
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

510 5.001

Chemistry Section A
Section Id : 708191648
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191928
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819116624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



According to Bohr's atomic theory :

2
(A) Kinetic energy of electron is o Z_

112

(B) The product of velocity (v) of electron and principal quantum number (n),
‘v x 72,

3
(C) Frequency of revolution of electron in an orbit is = Z_,i
n

3

(D) Coulombic force of attraction on the electron is = —-
n

Choose the most appropriate answer from the options given below :
Options :
70819155021, (A4)- (€) and (D) only

70819155022, () and (D) only

70819155023, (©) only

70819155024, (4 only

Question Number : 31 Question Id : 70819116624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



2
(A) Wﬂ?ﬁtﬂﬁﬁﬁfﬁx Z_z

n
(B) IrAFRLTA 4INSCast (v) @2 Y41 THTAFOM HLT (n) &F 2% ‘v’ o« 72,

3
(C) <3 T WA TS TE o %

n
3

(D) ST o FAN T T xS

n

direa Teua rars w4 ems guy Tamlh e 59
Options :

70819155021, 0 1 (&), (©) =8 (D)

70819155022, 1 (A) @ (D)

70819155023.

70819155024.

Question Number : 32 Question Id : 70819116625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I-1-1bond angles respectivel}r in I; ion are :

Options :

70819155025, Linear; 180°



i 3 . i g '1 O ]
70819155026. Distorted trigonal planar; 135" and 90

70819155027 1-shaped; 180° and 90°

Trigonal planar; 120°
70819155028.

Question Number : 32 Question Id : 70819116625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I, G F ST &g [ -1 1 T T #ffae 2
Options :
70819155025, CA; 180°

70819155026, T A AT E; 135° €@2 90

70819155027, T-=1Fe =w; 180° &2 90

R TS 120°
70819155028. W ;120

Question Number : 33 Question Id : 70819116626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Most suitable salt which can be used for efficient clotting of blood will be :
Options :

NaHCO
70819155029, 3

70819155030, M8HCO3)2



70819155031, FeCl3

70819155032, 104

Question Number : 33 Question Id : 70819116626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T AT THA (F52) T T S 799, T A2 I TECS A ¢
Options :

NaHCO
70819155029, 3

70819155030, M8HCO3)2

70819155031, FeCl3

70819155032, 104

Question Number : 34 Question Id : 70819116627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point
1S :

Options :
70819155033, H¢! > LiF; MgO > NaCl

70819155034, LiF > LiCl; MgO > NaCl



70819155035, HCl > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819155036.

Question Number : 34 Question Id : 70819116627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ea EEmata g sEEa Ae TN EIE T TEINed AeS ARG 24

Options :
70819155033, LiCl > LiF ; MgO > Na(Cl

70819155034, HF > LiCl; MgO > NaCl

70819155035, HCl > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO
70819155036.

Question Number : 35 Question Id : 70819116628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i) Siderite
(b) Iron (ii) Calamine
(c) Copper (iii) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :



Options :
70819155037, @)-(1), (b)-(ii), (c)-(iii), (d)}-(iv)

70819155038. (@)-(iv), (b)-(iil), (c)-(ii), (d)-(i)
70819155039, (@)(i1), (b)-(iv), (c)-(1), (d)-(iii)

70819155040, \@)-(1i), (b)-(i), (c)~(iv), (d)-(ii)

Question Number : 35 Question Id : 70819116628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wifer - 1 @7 7F wifer= - 11 (=18

wifera - 1 wiferest - 11

(%1g) (Srresferas )
(a) MR () Proass
(b) w2 (i) FmETEIE
(c) o (iii) FNSEETEH
(d) W= (iv) S
e AenglEm s e Tt e 74 -
Options :

70819155037, (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
70819155038, @)-(1), (b)-(iii), (c)-(ii), (d)-(i)

70819155039, (@)-(H), (b)-(iv), (c)-(i), (d)-(iii)



70819155040, @), (B)(1), (c)-(iv), (d)(ii)

Question Number : 36 Question Id : 70819116629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.
Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given
below :

Options :
70819155041 Both A and R are true and R is the correct explanation of A

70819155042 Both A and R are true but R is NOT the correct explanatinn of A

70819155043, ‘v 18 true but R is false

70819155044, A 15 false but R is true

Question Number : 36 Question Id : 70819116629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ties 1 Bafe a3 o A @ w1 1fE R foria s

w1 A vy Sfae «ifama e == gergeea R Grenfraca «@ smowm sifamne Sems 39 )
Ifg R:  ZIECGCE T 2% TaE |

Teiraa fagfeakm weae Sitsa Renafm wa Jhs Tl fre #a )

Options :



20819155041, A €A R TS0H2 &) @32 R, A -«7 F6® i

20819155042, A 3¢ R TS 7 77 R, A -« o= amam 731

10819155043, AT FRR T

A % R 79|
70819155044, ¥ PR R TS

Question Number : 37 Question Id : 70819116630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbC (iii) 780.0 nm
(d) CsCl (iv) 589.2 nm

Choose the correct answer from the options given below :
Options :
70819155045, (a)-(iv), (b)-(ii), (c)-(iii), (d)-(1)

70819155046, (@)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
70819155047, @), ©)-(v), (¢)-(i), (d)-(ii)

70819155048, (@-(i), (B)-(1), (©)-(iv), (d)-(iii)



Question Number : 37 Question Id : 70819116630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wifere - 1 «a 7F wifera - 11 e

Sifera - 1 wiferat - 11
(@Tae) (e rofa amiwe)
(a) LiCl (i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (iii) 780.0 nm
(d) CsCl (iv) 589.2 nm
T Fesafem W #iie Tt iee .

Options :
70819155045, (@ (Iv), (b)-(ii), (c)-(iii), (d)-(i)

70819155046, (@)-(i), (B)(iv), (c)-(iii), (d)-(i)
70819155047 @), (0)-(v), (c)-(i), (d)-(iii)

70819155048, (@)-(1), (B)-(0), (©)-(iv), (d)-(iii)

Question Number : 38 Question Id : 70819116631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The incorrect statement among the following is :

Options :
70819155049, VOSO, is a reducing agent

70819155050, Ru{:l"‘1 is an oxidizing agent



20819155051, —r203 1s an amphoteric oxide

Red colour of ruby is due to the presence of Co3t
70819155052. i

Question Number : 38 Question Id : 70819116631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Options :
70819155049, VOSOs &6 s 7

70819155050, RuQy G TTEF T

Cr,0, &35 Teedf wmnee
70819155051, 27

4 ~ S : ——
7081915505, Faa @@ e FAT Co’ + ST ToifEfe

Question Number : 39 Question Id : 70819116632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
What is the correct order of the following elements with respect to their density ?
Options :
70819155053, <F <Fe<Co<Cu<Zn

70819155054, Zn < Cr < Fe < Co < Cu

70819155055, 2 <Cu<Co < Fe <Cr



70819155056. Cr < Zn < Co <Cu < Fe

Question Number : 39 Question Id : 70819116632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TTE e TaCEa AT A T S AP 7

Options :

70819155053, <f <Fe<Co<Cu<Zn

70819155054, Zn < Cr < Fe < Co < Cu

70819155055, £ <Cu<Co <Fe<Cr

70819155056, Cr < Zn < Co < Cu < Fe

Question Number : 40 Question Id : 70819116633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCl, 12 ~, [Co(CsOy)a Ifi ~

and [\lnﬂi'_ respectively are :
Options :

70819155057, +90, 0 and 1.73 BM

70819155058, O-92, 4.90 and 0 BM

70819155059, O-82, 0 and 0 BM



70819155060, 490, 0 and 2.83 BM

Question Number : 40 Question Id : 70819116633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[FeCly >, [Co(C20, )5~ €@ MnO,> Toraafer ffite (oo @ (g~ T ) I -

Options :
70819155057, 490, 0 &2 1.73 BM

70819155058, 2-92, 4.90 @32 0 BM
70819155059, 2-82, 0 @@ 0 BM

70819155060 90, 0 €2 2.83 BM

Question Number : 41 Question Id : 70819116634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement Il : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819155061, Both Statement I and Statement Il are true

70819155062, Both Statement I and Statement 11 are false



Statement 1 is true but Statement 11 is false
70819155063.

Statement 1 is false but Statement Il is true
70819155064.

Question Number : 41 Question Id : 70819116634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e it fqfs trem e -

fafe 1:  “‘teaarmfae wfEwe ofEm (BOD)™ @ ¥ &ta §itaa A6/ & 27|
ﬁ@_‘% II: BOD -¢9 S«FHH I+ 6.5 ppm.

Teoraa [Rgfoafm wee S Renatm T e e biee w1

Options :

70819155061. s bl L G L e

S0819155062. 3T (1) @3¢ 3 (1) Tera g

20819155063, 3@ (1) e g fagfe (1) o

T0819155064. 3T () ¥ 2 e (1) v

Question Number : 42 Question Id : 70819116635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with -Naphthol in NaOH ?

Options :



70819155065.

: - 'ZHEMH2
70819155066.

70819155067.

70819155068.

Question Number : 42 Question Id : 70819116635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tiesa T CAeoa TiE-SmEeE F@ NaOH ¥atd B-Tiies 7 [feaw @i a9+ 969 Cofd

Fqrq 7
O

Options :

70819155065.



: ,(IHENHE
70819155066.

CI—I3

Question Number : 43 Question Id : 70819116636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819155067.

70819155068.

Which one of the following compounds is non-aromatic ?

(]

70819155069, O

Options :

@

70819155070. ¥

70819155071. :



70819155072. I [ I

Question Number : 43 Question Id : 70819116636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tieea TR W TR SATie a6 7 7

Options :
-

70819155069, O

70819155070.

@

]
70819155071. :
70819155072. I I I

Question Number : 44 Question Id : 70819116637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following carbonyl compounds cannot be prepared by addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options :



O
|

70819155073, CHa~C—H
;
|
—c—CH-CH
70819155074, 113~ € 2413

i

O
I
CH;—CH,—C—H

70819155075.

70819155076.

Question Number : 44 Question Id : 70819116637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HgSO, «a2 H,S0, @7 TAiEfers «fh Sieeaca e e a Fea T Fera casii tord P

A= ?

Options :

O
|

70819155073, CHa~C—H
;
|
—c—CH-CH
70819155074, <113~ € 2413

O

|

70819155075.



O

Il
CH;—-CH,-C—H
70819155076. g =

Question Number : 45 Question Id : 70819116638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

Cl Cl Cl cl
NO,  NO; NO,
(1) (i) (i) (iv)

Options :

70819155077, 1V) < (i) < (i) < (i)

70819155078, (V) < (i) < (iii) < (ii)
70819155079, (@) < (i) < (iii) < (iv)

70819155080, (V) < (1) < (i) < (iii)

Question Number : 45 Question Id : 70819116638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



G Cl Cl cl
NO, NO, NO,
(i) (ii) (iii) (iv)
Options :

70819155077, 1V) < (i) < (i) < (1

70819155078, (Iv) < (1) < (iif) < (ii)
70819155079, (@) < (i) < (iii) < (iv)

70819155080, (V) < (1) < (if) < (iii)

Question Number : 46 Question Id : 70819116639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O

Which of the followmg reagent is suitable for the preparation of the pmduct in the above
reaction ?



Options :

NaBH,
70819155081.

o@
70819155082, T2~ NH;/GH50ONa

70819155083, T/ Ha

Red P +Cl
70819155084, 2

Question Number : 46 Question Id : 70819116639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

S

oA fafaam a1 (qei Term zn @ oEfea T Aitea [ [AeESn GerEe 7
Options :

NaBH,
70819155081.

@
70819155082, VH2 ~NH,/CH50Na

70819155083, W/ H2

@@ P+ Cl,
70819155084, )



Question Number : 47 Question Id : 70819116640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
m-dibromobenzene ?

NO;, Br
- o= - -
Br
Options :
Sn/HCI / KBr / Br, / H*
- o - o
70819155085.
NaNO, / HCl / KBr / H*
- - - :
70819155086.
Sn/HCI / Br, / NaNO, / NaBr
- - - -
70819155087.
Br,/Fe F/Snﬂ 1(_1"/ NaNO,/HClI ;/CuBr,fHBr e
70819155088.

Question Number : 47 Question Id : 70819116640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



TRHTA G AT - CRETNA G Tofa & 9% [Aaas-a (b ?

o - - -
Br
Options :
Sn/HCI / KBr / Br, / H+
o - - o
70819155085.
NaNO, / HCl / KBr / H
- - - -
70819155086.
Sn/HCI / Brsy / NaNO, NaBr
— = =
70819155087.
Bry/Fe .F/Snﬂlup./ NaNO,/HCl ;/CuBrKHBr .
70819155088.

Question Number : 48 Question Id : 70819116641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-5 : °S’ stands for :
Options :

70819155089, >ulphur

70819155090, Otrength



70819155091, Dtyrene

Su Iphnnatinn
70819155092.

Question Number : 48 Question Id : 70819116641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

F1-S #feraa ‘S’ T

Options :

70819155089, 104

70819155090. "

70819155091. e

70819155092. Gl

Question Number : 49 Question Id : 70819116642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List - 1 and List - I1.

List - 1 List - 11
(a) Valium (i)  Antifertility drug
(b)  Morphine (i) Pernicious anaemia
(c) Norethindrone (iii) Analgesic
(d) Vitamin By, (iv) Tranquilizer

Options :



70819155093, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
70819155094, (a)-(1v), (b)-(iii), (c)-(ii), (d)-(i)
70819155095, (@)-(iv), (b)-(iii), (c)-(1), (d)-(ii)
70819155096, @) (H), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 49 Question Id : 70819116642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wifere - 1 @7 WF @ifera - 11 GEe|

wifere! - 1 wifere! - 11
(a) o (i) oA gy
(b) (i) RfFT T
(c) ARG (iii) AT TR
(d) febfB,, (iv) ekea
Options :

70819155093, (@)-(1), (b)-(iii), (c)~(iv), (d)-(ii)
70819155094, (@)-(iv), (b)-(iii), (c)-(ii), (d)-(1)
70819155095, (@)-(1v), (b)-(ii), (c)-(1), (d)-(ii)

70819155096 (@) (1), (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 50 Question Id : 70819116643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - 1L
List -1 List - 11

0
I
(a) R—C—-Cl -R—CHO (i  Br,/NaOH

()  R—CH,~COOH —R—CH-COOH (i) H,/Pd-BaSO,
cl

O
Il

(c) R—C—NH,—>R-NH, (1) Zn(Hg)/Conc. HCI
O
I

(d) R—C—CHy —»R—CHy—CHjy (iv) Cl,/Red P, H,0

Choose the correct answer from the options given below :

Options :
20819155097, (@)-(iii), (B)(iv), ()-(1), (d)-(ii)

70819155098, (@)-(ii1), (b)-(1), (c)~(iv), (d)-(ii)
70819155099, (@)(H), (b)-(1), (c)-(iv), (d)-(iii)
70819155100, @ (L), (b)-(iv), (c)-(1), (d)-(iii)

Question Number : 50 Question Id : 70819116643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



wiferat - 1 «@ 0% @iferst - 11 (s |
wifere - 1
O
(a) R—é—Cl—-R—CHD

() R—CH,—COOH — R—CH-COOH

I
Cl

O
Il
(€ R—C-NH,—+R-NH,

O
Il
(d) R—-C—CHy —»R—CH,—CHjy
fmfais Reaaf turs wie Teal biee 74

Options :
70819155097, @)-(1i), (b)-(iv), (c)-(i), (d)-(i1)

70819155098, (@)-(1i), (b)-(1), (c)-(iv), (d)-(ii)
70819155099, (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)

20819155100, @ (1), (b)-(v), (c)-(1), (d)-(ii)

wifere - 11

(i Br,/NaOH

(i) H,/Pd-BaSO,

(iii) Zn(Hg)/= HCI

(iv) Cl,/#m® P, H,0

Chemistry Section B



Section Id : 708191649
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191929
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819116644 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of Dz for
complete oxidation and produces 4 times its own volume of CO, is C H . The value of y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 51 Question Id : 70819116644 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

G SR ZRCGECT Tl SR Sl 3219 fof Seta 6 (%) 3¢ TS O, #AE= 27 «3ae
22719 75 SReted 4 (519) @91 WRe CO, TeAie a1 221 W4 Rerws C H, | & y &7 7

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116645 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
. L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ ! mol ~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116645 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50°C @@l «a2 740 mm Hg #Ta% ST 4.75 g SHbeEs smoe Siege Shed
(frebem =pfream)
[Crea =R R =0.0826 L atm K~ ! mol ]

L,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 53 Question Id : 70819116646 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
x %107 1. The value of x is . (Integer answer)

[Given : A /G°(HC=CH)= —2.04 X 10°] mol~1; AGY(CgHg)= —1.24 x 10° ] mol~1;
R=8314 ] K~ 1 mol~1] "

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819116646 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T weae 4ta T 25°C wreTa Siesa i@ w0 log K @@ 9 =W 2 x 101 903 x @3 T
| (AT TER)
3HC =CH g =—=C¢Hg

[T BCR @ A G°(HC=CH)= —2.4 X 10°] mol~1; AGHCgHg) = —1.24 % 10° ] mol 1 ;
R=8314 ] K 'mol 1] "

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116647 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,;, in 200 g of C H,
freeze is “C. (The molal freezing point depression constant of C H, is

5.12°C/m.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116647 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5.5°C W@ C H, Bafire =11 200 g CH, T 10 g CH,, @7 %% RBafie 2637 wieman 2=
°C. (CH, @@ (et f2as si@eme $9% 5.12°C/m.)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116648 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The solubility product of P"bI2 is8.0x107°%. The solubility of lead iodide in 0.1 molar solution
of lead nitrate is x x 10~ ® mol/L. The value of x is . (Rounded off to the nearest
integer)

[Given \/T = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116648 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Pbl, €@ TEATS] 2oT% 8.0x 10~ 7| ToC TMICHCHA 0.1 TG HACH TG WICATCIZTCA WATS| 28
xx10"6mol/L | ©@ x a8 T _ (frrsew #jefmeam)

[T/ TR : 2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 56 Question Id : 70819116649 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The magnitude of the change in oxidising power of the MnO}/Mn =t couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

MnO, and Mn?" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
I 2303 RT
|:{_%Ivnn - ¥ = U_[EU]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819116649 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C @IaE H* Sae™ 95% 1 M 1908 Ihd 104 M e, MnO, /Mn?" T wm@e
A e 2 xx 1074V, O@ x @7 W | (frabew #efeam)

(03 N8 W H* &7 6% ARRE MnO,~ €48\ 2+ ST SIGF 458 ATCF)

|:’,F¢3‘.II” - :2..3{13 RT

= {].{159]
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 57 Question Id : 70819116650 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Ingm[T] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819116650 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Hew FA TR (I WEF w0 EE AHEEe I8 IS S Fl3 e O F@1 25°C
; 1
TN G SEFE 3.33 | 9 €D It SREE ES [oIe | Ingm[T]tﬂﬂW

x 1072, (frebex #jf5em)
[473 18 : In 10 =2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819116651 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will

show paramagnetismis
(A) a-sulphur (B) p-sulphur (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819116651 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

B3\ £ e 2 o PO 57 g ) o s Y (37 R 1 R B T T e e o e S

(A) o=FE (B) p-T=ER (C) S,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819116652 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The total number of amines among the following which can be synthesized by Gabriel
synthesis is _

CH3~_~ : .
(A) CHx CH—CH—NIH (B) CH,CH,NH,

CHy—NH NHo
© ©/ (D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819116652 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Trsa S ArS sMEEs Hersme A AewEe T A0a ON ST ReAn TE

CHjz
CHs

CHy—NHy NIH>
©) ©/ (D) ©/

Response Type : Numeric

CH—CH—NH (B) CH,CH,NH,

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 60 Question Id : 70819116653 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durin%c:;
purification. Amount of acetanilide obtained after purification (in g) is ___ - | et

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819116653 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 o™ wififeicem el fafamn enfionfuense Sesm 201 Afarngcem s Teema 10% =18
28| WG SIEeCed SEe (9N G EF) x10~2,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Mathematics Section A

Section Id : 708191650
Section Number : 5



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191930
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819116654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

= = 9 is (20, b, —a—9), then |a+Db) is equal to:

|
5

Options :
70819155111, 84

70819155112, 56

70819155113, 58

70819155114, 20

Question Number : 61 Question Id : 70819116654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. - 2 s o x - 1
T a, be R «@2 3% P(a, 6, 9) F@ wid ofefg @3 was@y —— = By o T
K

(20, b, —a—9) 9@ [a+b| 9F T 2T :



Options :
70819155111, 54

70819155112, 86

70819155113, 58

70819155114, 20

Question Number : 62 Question Id : 70819116655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

a,c), (2, by and (a, R «, B are the roots of the equation ax=+bx+1=0, then
2, b) and (a, b) be %S ; If I f the eq 2+ b 0, tt

the value of a2+ B2—ap is :

Options :
69
70819155115,  20©
71

70819155116, 290

69

70819155117.

By |

70819155118.



Question Number : 62 Question Id : 70819116655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a, b, c TR Aefere wCE| 4R @I fagrea ARTgE™ 29 (a, o), (2, b) €8 (a, b), A2 SATE

3
Options :

10 7 ;
[—, %J a, BT ax2+bx+1=0 93 A =W A o2+ p2—off «F I7 (A :

69
70819155115,  20©
71
70819155116, 290
&
70819155117, 220
By |
70819155118,

Question Number : 63 Question Id : 70819116656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If Pis a point on the parabola y=13-+-4 which is closest to the straight line y=4x —1, then

the co-ordinates of P are :
Options :

(3, 13)
70819155119.

70819155120. (2 8)



-2
70819155121. {—%#

70819155122, (17 9)

Question Number : 63 Question Id : 70819116656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
P @3 3 a2 y =22 +4, SiErEa Ta T@AES 32 y=4x— 1, FEECAAEA FACAT s waEe
o, P 99 FWE 209 :
Options :
(3, 13)
70819155119.

70819155120. (2 8)

70819155121.

70819155122. (L 5)

Question Number : 64 Question Id : 70819116657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For which of the following curves, the line x ﬁy = 243 is the tangent at the point

53

2 s
Options :

2+y2=7
70819155123, y



2+ 93;2: 9

70819155124
¥ 1 x
o
70819155125 V3
2x2— 18y2=9
70819155126,

Question Number : 64 Question Id : 70819116657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

- 33 1
x+ 3y = 243 T [ A EE] TS foesa e I@eaa = 203 2

Options :

70819155123.

70819155124.

70819155125.

70819155126.

Question Number : 65 Question Id : 70819116658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



3
The value of the integral, j[xz 2x —2|dx, where [x] denotes the greatest integer less than
1

or equal to x, is :

Options :

70819155127, >

70819155128,
70819155129. V2 -3 -1
70819155130, V2 - VB4

Question Number : 65 Question Id : 70819116658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

j[xﬁ 2x — 2]dx 97 T F© A, T [x], 76 FA x @7 AW &G T < x:

Options :

70819155127. =5

70819155128, — 4

70819155129, V2 -3 -1
2 =:B %

70819155130.



Question Number : 66 Question Id : 70819116659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pa(pvq)is:
Options :
70819155131, ~ P4

70819155132, ~ P "4

70819155133, ©

70819155134, P/~ 4

Question Number : 66 Question Id : 70819116659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

~pAl(pvq) @@= ans RHgfeft == -
Options :
70819155131, ~F 4

70819155132, ~F "1

70819155133, ¢~ 1

70819155134, P/~ 4

Question Number : 67 Question Id : 70819116660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations 1[:5';2E!-:’1 B2A?) X=0, where X is a 3 1 column
matrix of unknnwn variables and O is a 3 X1 null matrix, has :

Options :

70819155135, 1O solution

70819155136. a unique solution

70819155137, =Xxactly two solutions

70819155138, infinitely many solutions

Question Number : 67 Question Id : 70819116660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AW A €32 B, 3 X 3 IWA WIGH 28 TWIA A ofom «@e B Rafom s =1 w@ (A2B2 - B2A2)

X=0 &% Ta4s FaFaafEE, @I X 28 3 x 1, B8 WIHH Se= 5e@ @32 O 28 3 X 1 %[0 s
Options :
70819155135, SRR S el o

70819155136. G HF M 23

70819155137, 0% K0 TUH T

70819155138, TRV (LA S



Question Number : 68 Question Id : 70819116661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f(2—x) for all

x € (0,2), f(0)=1 and f(2) =e”. Then the value of Jf{x} dxis :
L]

Options :

7
— e~

(=

70819155139.

2
70819155140, 1 T¢€

] x
70819155141, =1 +¢e7)

1 — o
70819155142, 21 7€)

Question Number : 68 Question Id : 70819116661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
f(x) =% SRS SCHHE, [0, 2] TS HEWG, WA f(x) =f (2 —x) T x < (0, 2), I f(0)=1

-

LﬂTﬂ'EI_.Ir[E_]:UEﬂGE jf[xj dx &9 W+ 39 :
0

Options :

7
70819155139, 1 €~

2
70819155140, 1 T €

7 &
70819155141, 21 +¢€%)



R
70819155142, 21— €%

Question Number : 69 Question Id : 70819116662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f'(0)=2 and

1f@ @

f(x) #0forallx e R. If Fo) Fe = (, for all x £ R, then the value of f(1) lies in the
§ fx) f'&x) =

interval :
Options :

©, 3)
70819155143.

3 G
70819155144. 20

70819155145. (6 9)

(9, 12)
70819155146.

Question Number : 69 Question Id : 70819116662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

% f 1B (39 SRS SCAFS 27 TE R @ NW@S, TIANA f(0)=1, f/(0)=2 ¢3¢

lf@  fo

f(x)= 0,78 x c R. T ol Al 0,5 x =« RS0A f(1) @7 < S@ZH S04
X X

Options :

70819155143. o)



70819155144. (3 6)

70819155145. (6. 9)

(9, 12)
70819155146.

Question Number : 70 Question Id : 70819116663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y= ax>+bx+c, xe R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :

70819155147, @=1, b=1,¢c=0

70819155148, @=1 b=0, c=1

70819155149, 2= ~ L b=1,¢c=1

, b=

%]

I
B3| =
13 | =

70819155150.

Question Number : 70 Question Id : 70819116663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A y=ax?+bx+c, x € R @@ (1, 2) FwanT @@z Tz o ofamgre =wxiceq Aq@as o0
y=x, %4, a, b, c 99 FEET A T :
Options :

70819155147, @=1, b=1,¢=0



70819155148, @=1 b=0, c=1

70819155149, 4~

70819155150.

Question Number : 71 Question Id : 70819116664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f n=21is a positive integer, then the sum of the series

i T ] oL o o o

Options :

n(n —1)(2n+ 1)
70819155151, 6

.n{n +1) (2n + 1)
70819155152 6

.11(211 +1)(3n +1)
70819155153 6

n(n 'ljz(n + 2)

12

70819155154.

Question Number : 71 Question Id : 70819116664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



i n>2, G = gE s A Tmem  "TC,+2(2Co+ T, + 40, 4.4 "C, ) @a e
29 :
Options :
n(n —1)(2n+1)
70819155151. 6

'n(n +1) (2n + 1)

70819155152. 6

.11{211 +1)(3n +1)

70819155153. 6

n(n 1}2(11 +2)
12

70819155154.

Question Number : 72 Question Id : 70819116665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the system of linear equations :

x—2y=1, x—y+hkz=-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct 7

Options :



70819155155, ) and (D) only

70819155156, (4) and (E) only

(C) and (D) only
70819155157. i

70819155158. (B) and (E) only

Question Number : 72 Question Id : 70819116665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

tatE AaFaci

x—=2y=1, x—y+kz=—-2, ky+4z=6, ke R T8 :
(A) TARPF AT AW k=2, k= —2

(B) % Wy AWk = —2

(C) 1% STy 3 k=2

(D) T T4 20& = A k=2

(E) SPIe= S 2Aeeq M kz — 2
mﬁﬁ?ﬁfﬁ?{%ﬁm

Options :

70819155155, T T (A) S (D)

TEIEE (A) @32 (E)
70819155156. - -

@aea (C) «@e (D)
70819155157, - -



@9qea (B) @32 (E)
70819155158. ' :

Question Number : 73 Question Id : 70819116666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f:R — R be defined as

55x, ifx< -5
f(x) = {2x3— 3x2— 120, if -5< x<4
2x°— 3x*— 36x — 336, if x >4,

Let A = {x e R : fis increasing}. Then A is equal to :
Options :

70819155159, (— %, =9 W (4, =)
70819155160, (3 —4) v (4, =)

70819155161, (— ®r ~) v (—4 =)

70819155162 2 %)

Question Number : 73 Question Id : 70819116666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



4/ f R — R TEfEI@eTa, A2ere :

Bhx, Arx< -5
f(x) = {22° - 32% - 120x, T -5< x<4
2x%— 322~ 36x — 336, M x >4

qF A =(xec R:f THAA), T3 A «F T T4 :
Options :

70819155159, (— %, =2V (4, =)
70819155160, (—3 —4) v (4, =)

70819155161, (— %, —3) U (—4, =)

70819155162, (2 =)

Question Number : 74 Question Id : 70819116667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

45
8

A possible value of tan(—sf_t‘n
4

Options :
1
=
70819155163, N/
1
22

70819155164.



Ji

70819155165.

70819155166, 2¥2 — 1

Question Number : 74 Question Id : 70819116667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

tm‘u(zim_l ] OF @ T+ T3 ;

Options :

70819155163.

70819155164.

70819155165.

70819155166, 2¥2 — 1

Question Number : 75 Question Id : 70819116668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 6(°. After a flight of
20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :



70819155167, 36003 m

70819155168, 240043 m

] %
70819155169, oWV G m

i
70819155170, 1200V 3 m

Question Number : 75 Question Id : 70819116668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T Trm wATe W aFh T A 3308 «& 16 T80 THtEa e w@el 60° 432 5. /701 @ Tre
20 TIPS *1 T3A TAte tF AfFaiee 28 30° | S I T THW 3% SHem Tre I d T2E
TH@l 374

Options :

70819155167, 36003 m

70819155168, 2400v3 m

i1 %
70819155169, [oUUVS m

;
70819155170, 120043 m

Question Number : 76 Question Id : 70819116669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The vector equation of the plane passing through the intersection of the planes
— A

r-li + ;, TS ;2] =1 and ;(; _2}] = — 2, and the point (1, 0, 2) is :

Options :

r\3i+7]+3k)=7
70819155171.

—3

(i47543k)=7

=]

70819155172.

r-(i ?}|3k]=
70819155173,

W~

r{?l?}lSE)z

W~

70819155174.

Question Number : 76 Question Id : 70819116669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X e ;(: .3 j 3 k] =1 &M ;(; —2;) = — 2, TASCAI TRARHSIA @32 (1, 0, 2)

T o= Te3a e 24
Options :

r\3i+7+3k)=7
70819155171.

r-(i475+3k)=7
70819155172,



7
70819155173, L

._t
.
|

s, P
L
ol
[l

7
70819155174 3

Question Number : 77 Question Id : 70819116670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the statements p and g, consider the following compound statements :

(@ (~q~(p—=9q)—=~p

® (PvaA~P)—q

Then which of the following statements is correct ?
Options :
70819155175, (a) is a tautology but not (b).

70819155176 (b) is a tautology but not (a).

70819155177, (a) and (b) both are tautologies.

70819155178, (a) and (b) both are not tautologies.

Question Number : 77 Question Id : 70819116670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



fagfe p @waz q Tewsn @i fagfe e w03 -
(@) (~qa(p—q))—=~p
(b) ((pvar-~p)—q

©ra T fafeft Mo =3 2

Options :

70819155175, (a) DEAfE 7 (b)
70819155176, (0 DL % () T
20819155177, (3) €3¢ (b) =L BafE

70819155178, (a) R (b) 722 Sts 7w

Question Number : 78 Question Id : 70819116671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a curve y=f(x) passes through the point (1, 2) and satisfies x% by = bx*, then for

. 62
what value of b, jf(ljdx = ? ?
i

Options :

70819155179.

70819155180.

70819155181, °



62

70819155182, 2

Question Number : 78 Question Id : 70819116671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

G o Sl 8 :
sl @y =f@), (1,2 Regr® @ <Y 4y = bx® A Frs w23, 07 b aw o AT
2
62
Gl jf(x)d;r=— 29
i 5
Options :
10
70819155179.
31
5
70819155180.

70819155181, 2

70819155182.

Question Number : 79 Question Id : 70819116672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :

Options :



70819155183, 2

70819155184, <

70819155185. =

3
70819155186, 2

Question Number : 79 Question Id : 70819116672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

GB(1, 2, 3, 4, 5) - <A TSBH TG A THA T TACF W@ T 16 SHTTH TS 203 ACHE TRR TG
TFAEAE F6 *W APCA| A DR R A

Options :
65

70819155183, 2

65

70819155184. =

70819155185, =



35
70819155186, 2

Question Number : 80 Question Id : 70819116673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the region: R ={(x,y) : 522 = y < 2x2+9} is :
Options :

3 squ its
70819155187, ©V3 Square units

20819155188, 9V3 Square units

70819155189, 11V3 Square units

12 square units
70819155190, 12¥3 %

Question Number : 80 Question Id : 70819116673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R ={(x, y): 522 = y = 222 +9), % S THhaFa 24 :
Options :

o7 3 T
70819155187, V3

a.r a5t «E
70819155188, V3

.-11 3 75 GFF
70819155189. J_



123 3 T
70819155190, 1=V3
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819116674 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum
possible value of k is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 81 Question Id : 70819116674 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



10f6 Frefas #Heam 1, 1, 1, .., 1, k &3 ToW9E 10 &3 I A, k @3 FAS T4 23

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819116675 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (=5, 0). If the locus of the point P is a circle of radius r, then 4r? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819116675 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

P« &6 &g arEm (5, 0), B@ e me, (-5, 0) Rem tas o fem-g 3 P fem
ALEATAT AXFA GFH 98 W AZA AN r, HA L2 AT HA |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116676 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)?>+ (y—3)>=25 at the point (5, 7) is A, then 24A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116676 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(x =22+ (y—3)%=25 qraa T [@Te (5, 7) Rrqre e wfces, = e a2 9 x-or% ol
MoC fapred THFasa A S0, 4A @ IW A |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116677 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



1+ &
Let i= « I.If{

(1- i) (1+ i

}2-1-

ﬁ]ZI | (1| fﬁ]zl

= k,and n=[|k|] be the greatest integral part

n+o B n+2
of |k|. Then Z’(; +5)° ;(; t5) isequalto .
F 5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116677 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

R i= [ W <14 *\E}El | (14 ;'Jifl

57 — k €@ n=[|k|], 2 | k| -« A6 S T
(1- &) (1+ i)
n+5 s n+bH
WA ) (J+5) - 2 (j+5) AT
j=0 j=0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819116678 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The students Sy, S,, ...., Sy are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819116678 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1[}@5’251,52,....,5“]@51@%“ sB09 A, B @@ CT@ ©1%1 A0S 204 A0S A0S SFLH FA0H G
B AE G932 C SFe S 3 & Td Aad| S0 TG T AFE G 559 T A0S 7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819116679 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



nj ”Cr, ifn=zr=0
For integers n and r, let g :
r 0, otherwise

The maximum value of k for which the sum

&(10) 15 ) &1(12)( 13
Z{} i Nk f+Z{]. P e i1—; exists, is equal to :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819116679 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fmY “Cr, qAvnzr=0
4afa rJ 0, ST,

E(10)( 15) 12 13 ]
TR n G392 r SYS FLLT | Z,' s + i N er1—i «F TS SRy AHE, O
i= =

keq wEms I 29 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 87 Question Id : 70819116680 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 n‘_,f'(iJ = bx 4 E x £ 0, then the value of the expression
X x

flx) ,_rH
X/ is

X +—
.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819116680 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AW at+a=1 b+B=2 a2 af(x) rx_f'[iJ e B g
X .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819116681 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let A be an integer. If the shortest distance between the lines x — A= Zy— 1=—

=

.\‘ll
242"
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range

x=y+2h=z—Ais then the value of (Al is

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819116681 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

afd A @3 WG WA TW x—A=2y— 1= —2z @3 x=y+2\ =z — \ FAECALTAAA T FAH

i
L

A/
: 5 g AT+
Wzﬁfﬁhtﬂﬁ a1

o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 89 Question Id : 70819116682 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of first four terms of a geometric progression (G.P.) is 12 and the sum of their

respective reciprocals is Ty [f the product of first three terms of the G.P. is 1, and the third

term is «, then 2« is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819116682 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

65 : 65 .
GFG FAE (G.P.) TITR 2= BTG #Twd e 1o TR O S e T o vl Iy G

G.P. 97 22% T&G 0 % 1«32 POl "M aO@ 2a%d |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819116683 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



27

The number of the real roots of the equation (x + 1]2 + |x—5|= T s _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819116683 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e E
(x+1)%+ |x —5|= -~ FANFAA I AT AN XA

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



